00000000 (20010 60 2100)
000000000000000000000000000000000000000000
ooooooo

1 J0000oOooobobbobbbobooogo

goobbooooooboboooooobobboooobbboooobLbbboooobbDboo
goooobobooooooooooobbobbouoooooooobbboboooooooooo
ooboooobooooboo4b0000DbD0O0OO0OO0ODOODODOOOOOODODODODODODOD
gobooobobooboobooboboobooboobobobooboobooobon
0000000000000 0O00000000000000D (DODOD0DoOOoO0ooOO0)ooo
goooobobooooooooooooobbuoooooouoobobboboooooooooo
gogoooboooooobbboooobbboooobbboooobLbbboooobLbboo
goooooobbbbbbooooooooouooooooo

gobbooooooobobooooobobbuoooobbboooobLbbboooobLbDboo
gooooboboooooooooooooboooooooooobobobobooooooooo
ggobboooboboboooobbboooobbooooboboo

0000000000000 0000000000000O00O00O00O0D (OoOOooOoD)
gogooobooooooboobboooobbbbooooobbboooobbbbooobboDboo
gooooobbbbbbbbbboooooooooooouoooo

goooobobbooooobbbooouoobbooooouobbobbbooobnbbooo
gogobgoobooboobooooboooboboobbobobobbooboobon
gogoooboooooboobbooooobobobboooooboboooobobbooooboobboo
goooobobooooooooooobbbboooooooobbobbboboooooooo
ggoo

gooooooobobboooooouooobbbboooooouooobbbbboooo
ggoobooooogooooboooobbbooooobboboooobbbooooooboobDboo
goooobobooooooooooooboboooooooouoobbobbooooooooo
ggooobooooobooboboooobobbuoooobobbooooobbboooobDbDboo
goooobbooooooooobobboooooooooobbbobboooooooooo
ggoboooobobooon

goooouooobobbbboooooouoobobobboooooouooobobobbbbboooo
gogobooooooon

1. 000b00O0o0b0ooO00o0ob0o0obo0obOo0obobDoobooObOo0obOoobOoDOooDbOo

2. 000000000000000000DO0O0O0OD (DOD0O0ODDODODDOOOD)D0DO0ODOO0O
ogn

gogooooooooooboboooobbboooobLbboooobLbboooobLbDboo
goobobooooobobbuoooobbbooogbDbboooUbDbboooUbbboo
gogoooboooooobooboboooobbboooobLbboooobLbbbooobLboboo
goobooboboooobobbuoooobbboooUbobboooobDbbooUoobbboo
gogobbooobobboooobbooooboboo



2 0OOo

gooooooooooooobbbbbbooooooooooogouoooo
00 f00 00000000 f(x)00O0O

(1) f'(q:) — lim f(ZL' + h) B f(ZL')

h—0 h

00000 |A 000000000 f(z) D000D000O0DOOOO

h
gododoooooooooooooogood f’(a:)DDDDDDDDDDDDDDDDDDDD
fO Taylor 000000000000 ODOODOOOOODOOOO
fOD0 zx0000000000O000O00O

f'@) e S@) s fO)

3) fla+h) = f@)+ f@)h+ 3 TR
Ooo0o0o0o0 RO —AOOOOOOOO

" "o ()l’
(4) f(:c—h):f(a:)—f’(:c)thfé >h2—f3(! )h3+f44!( Dyt

) fiay = DI oy o)

0000000000000 0000000 O(h)0000000000000000 O(k) O
0000 Landau 000000 (00 (1)0000000)000 (4)000

©) flaey = DTN o) )

000000000000000000000000 f(»)0000000000000000
0 O(h) 0000
00 (3)00 (4000000000

fl@+h)— flxz—h)

(7) f'(x) = 57 +0(h*)  (h—0)

00000000000000 10000000000 f(x)00001 0000000000
0D OoMR) 000000000 000000000000000000000000
000 (3)0 4)00oo0ooUo0ooooooooo:

(8) f”(l’) _ f(x+h)_2];L(2$)+f(x_h) +O(h2) (h—>0)

OO0O00O00obO 200000000000



O7-1: 0000000000

3 U0bObOooobuoooboon

00000 600000000000O00OO0 (DOUDD)0DDOODODOODO

(9) % = % (t>0,0<z<1)
(10) u(0,t) = w(l,t)=0 (t>0)
(11) u,0) = flz) (O=sz=s1)

googg

0000000 w=u(zt) 0000 [0,1] x[0,400) 00 7-1 0000000000000
O (z;,4;) 0000 w00
(12) wij = u(z,t))
0000 U,; 0000000000000

0000 2000 [0,1)]0 NODODOODOOOO {z;¢=0,---,N}OOODODDODODOODOODO
00 (stepsize) 0 h=1/NDOOODO

(13) wi=ih (i=0,1,---,N).

000000 ¢+0000000 7(>0)0000000

(14) ti=jg7 (j=0,1,2,--+)
gooo
ou 0*u
ooo (z,t;) D00D00OODOODO EDDDDDDDD WD 200000000000
T
(15) O (a1,1y) = U019 =1y ()
gt ) T T
(16) @(%t]’): — h2] —= +0(h?)
0000«0000000 (90000000 A, 7000000000
Uiglj = Wiy, Uigly — 2Uij + Uiy,
17 =
(17 s .



gooboood
0000 U; 0000
Ui — Ui Uipr; —2U;; + Uiy

(18) - - 2

000000000000000

000000000000000000000000000000000000000000
j000000000000000000000400000 Uiy, Uy, 000000 4=
00N ODODOO (18 00000000000 1<+<N-1000000000000000
000 A=+/k20000

(19) Uija1 — Uiy = MUigr; — 2U; 5 + Ui_1 ).
0000
(20) Ujri = (1=2NUi; + A(Ui—1 + Uiz )

(1<i<N-1;j=0,1,--)

0ooo
000000 (10) 00000

(21) Upj=Un; =0 (j=1,2,--),
0000 (11)00000
(22) Ui,O = f(l'z) (0 S i S N)

0000000000000
000000000000000000000000 (9), (10), (11)0000000000
(U;;;0<i<N,j>0}00000000

(23) U/L"jJrl — (1 - 2)\)UZ,J + )\ (Uifl’j + Ui+17j)
(24) Uo; = Uny= (j=1,2--)

(25) Uo = f(-Tz) (0 Si =S N)
gooooo

0000000 {U;;0<4<N,720}0000000000000000000
1. 000000 500000 {U;p;0<i<N}0OO0O0O0OO (25) 000000000
2.j=0,1,---00000000 {U,,4;0<i<N}OOOOO

() 1SiSN-10000 U;;1 0 (23) 00000
(b) Z:O,NDDDDD (24) ooo UO,jJrl:UN,jJrl:O-



N |u(1/2,01) 0000 |DO000 (%)
10 0.36654433 1.653709
20 0.37118820 0.407728
40 0.37232923 0.101583
80 0.37261327 0.025374
160 0.37268420 0.006342
320 0.37270193 0.001585
640 0.37270636 0.000396

07 1: (o) =(1/2,01) 00000 (A=1/2).

4 0O00O0O0OO

goodoooooooobbbbbbbooooooooooouoooooboobooboboobobn

(1) 0000000

goooooboobbboodooogouoobobbbbooooooouoobobbbboboboooo
goobooodoobobboooobobbooooobboooobLbboooobLbbooOoon
00000 (D0O000)0D00o0oo0oooooo

O0o0000o0ooooOo (9-(11)oU0o0D0 « 0000000000000 D0O0O0O0OoO
000000000000000000 f0 f(x)=folz)=sinmz 000000 w O

(26) u(z,t) = e ™ tsinma

OO0O0bOOo0obOoboooebOobOOODO

u(z,t) = Z bpe ™™t sin nrr,

(27) n=1 )

b, = 2/ f(z)sinnrx de (n=1,2,---)
0

o000 b, 00000 by =1,b6,=0(n=23,---)00000000000000 (26)
000000 wO (9), (10), (1)00000000000000000000000 7-1 O
(z,t) = (1/2,0.1) DO0O000 u(1/2,0.1) = exp(—0.17?) sin(7/2) = 0.372707838--- 00 OO
oooooooobooboooooobooboooobO0o0 NObobOoboboboboboo
000000000 720000000000000000000000 (DOODOOOODOO
000000000 (2)00000000) 00000000 NODOODOODOODOODOOOO
0000000000 N?200000000000000

(2) 000000

00 t0t—+4+c0o 000000 w(-,t) 00000000 0O0OODOOODODOOODOO



0.001

0.0001

le-05

le-06
10

100 1000

072 (z,t)=(1/2,01) 000000000 (A=1/2).

000000 (Dirichlet) 00000000

00000000 (9)-(11)00000

u(z,t) = Z bpe” ™™t sinnr,
(28) n=l
b, = 2/ flx)sinnrr dr (n=1,2,---)
0

O00t¢t—oc 00000 wOODOOO ODOOOODOODOO:

(29) lim u(z,t) =0 (0=x<1).

t—o00 -

(0 (29)0000000000 (3)000000000)
0000000000000 fO0
1
0= —
SR CGE)

1

00000 (00000 7-3) 000000 (9-(11)0000000000000 N =50, A=
1/2000000000000000740700000000000000000000 50
oooo0 {U;;0<i<N}000000000000000O0O0OO0 t=j7=0.01,0.02,
0.03,0.04000000 2000 u(z,t) 0000000000000000000000000O
0000000000000000000000000000000000000000000
000000000000000007-80 t=000¢=0300 0010000000000
D000000000000000000000000000000 000000000000
0o

[IA

(30) file) =



heat equation, Dirichlet B.C.
theta=0, N=50, lambda=0.5

07-3:0000 f=Ff

heat equation, Dirichlet B.C.
theta=0, N=50, lambda=0.5
t=0.03

0 7-6:t=0.03

heat equation, Dirichlet B.C.
theta=0, N=50, lambda=0.5
t=0.01

0 7-4:¢t=0.01

heat equation, Dirichlet B.C.
theta=0, N=50, lambda=0.5
t=0.04

O 7-7:1t=0.04

heat equation, Dirichlet B.C.
theta=0, N=50, lambda=0.5
t=0.02

0 7-5:1t=0.02

heat equation, Dirichlet B.C.
theta=0, N=50, lambda=0.5
Tmax = 0.3, interval = 0.01

07-80000000,¢=
0~ 0.3, At = 0.01



heat equation, Neumann B.C.
theta=0, N=50, lambda=0.5

O7-9:t=0

heat equation, Neumann B.C.
theta=0, N=50, lambda=0.5
t=0.03

heat equation, Neumann B.C.
theta=0, N=50, lambda=0.5
t=0.01

N

0 7-10: t=0.01

heat equation, Neumann B.C.
theta=0, N=50, lambda=0.5
t=0.04

heat equation, Neumann B.C.
theta=0, N=50, lambda=0.5
t=0.02

/\

O 7-11: t =0.02

heat equation, Neumann B.C.
theta=0, N=50, lambda=0.5
Tmax = 0.3, interval = 0.01

T T

0 7-12: t=0.04 0 7-13: t=0.05

07-14:t=0~0.3

00000 (Neumann) 00000000
00000000000000000000 (lo)Doo0oooooooooo
(31) uz(0,t) =uy(1,t) =0 (t>0)
OO00000000O00DO0 60D00ODO0O0ODOODO
1 o0
u(z,t) = an—l—Zane_”%thosnwx,
(32) L =l
a, = 2/ f(z)cosnrr dx (n=0,1,--+)
0

dddoodododooooodidt—oo 0000w UD0O0OO0DOO0OO0OOOOOOONO
ao:

a
(33) lim u(z,t)zg (0<2 <),

t—o0 - -

0 790 1300000000 £,0000000000000000000000000O0
N=50,A=1/20000000000000000000000000000000000
D00 w(,t)0000000000000000000000000000000000000
f=f,00000

1
1
(34) E?z/nﬁ@ﬁmZD73DDDDDxDDDDDDDDDD:Z
0

8



t\z

0

0.1

0.2

0.3

0.4

0.5

0.00
0.05
0.10
0.15
0.20
0.25
0.30
0.35
0.40

0.000000
0.221849
0.246121
0.249466
0.249926
0.249990
0.249999
0.250000
0.250000

0.100000
0.227225
0.246862
0.249568
0.249940
0.249992
0.249999
0.250000
0.250000

0.200000
0.241301
0.248801
0.249835
0.249977
0.249997
0.250000
0.250000
0.250000

0.300000
0.258699
0.251199
0.250165
0.250023
0.250003
0.250000
0.250000
0.250000

0.400000
0.272775
0.253138
0.250432
0.250060
0.250008
0.250001
0.250000
0.250000

0.500000
0.278151
0.253879
0.250534
0.250074
0.250010
0.250001
0.250000
0.250000

07-22000000000 (00000000, H0=0.5, N=40,=0.5)

000000000000 7200000000000000000 1/4=02000000
0000000 (0000000000000 0000O0D0O0oOoooD)

(3) D0D0DO00O0U000O0t—ooO00O0DOO

goobooooobbooooobbbooooobobboooobbboooobnbboo
goobdooobobbdoooobobboooobobboooobobbooooonbboooo
HEN

goboooooboooooo

060000 fO000000O00O0ODO0ODO fODOOO (DODODOOD)OODDODODOODO
00000000 f000000000O00O00O0 a, b, 0000 Jay|, |b,] D nO000OO0
goodooouoooooobbbbbbboooooooooouoooooboooboboobbbo:

fO0C-0 (kODDODDODODO) = ay,b,=0(n"% (n— +o0).

0000000000 fO00000O000OOOOOOOUOOOOOO fOODDODODODOOOO
0000 (=00000000000)00000000000OO0

> 0k (lan] + [bal) <00 = f O C*-O.

n=1

00000 f007-1500000000000000000 /0000000000000
00000000000000000 fO0000000000n— 4000000 |a,l, b, O
0000000000000 f=/f 0000000000 (9-(11)000000000000
(27) 000000 n0000000000000 exp(—nr%) 00000000000 >0
0000, 00000000000000000000000 f= 0000000000
0000000000000000000000«w 00000000000 (00000000
0000)00000000

000 f=f00000000000000000000000 7150200000000
0000000 ¢t=00010000000000000000000000O0O

goood



heat equation, Dirichlet B.C. heat equation, Dirichlet B.C. heat equation, Dirichlet B.C.

theta=0) N=50, lambda=0.25 theta=0, N=50, lambda=0.25 theta=0, N=50, lambda=0.25
t=0.001 t=0.002
O7-15:t=0 0 7- 16: t = 0.001 O 7-17: t =0.002
heat equation, Dirichlet B.C. heat equation, Dirichlet B.C. heat equation, Dirichlet B.C.
theta=0, N=50, lambda=0.25 theta=0, N=50, lambda=0.25 theta=0) N=50, lambda=0.25
t=0.003 t=0.004 Tmax % 0.2, interval = 0.01

0 7- 18: t = 0.003 0 7-19: t =0.004 07-20: t=0~02At =
0.01

gogooooboobbboboooooooooobobobbooooouooobbbbboooo
000000000000000000000 (00D00)0D00000000000000 n
0000 sinpre 00000000 DOO0O0OD0ODOODODOODODOODODOODOO nODODOO
000000000000 exp(—nr%) 00¢t0000000000000O0D0O0O0DODOOOO
goodooooooooobbbobbbbouooooooo

ggod

00 (27) D0000¢t00000000000 n=2,3,---000 n=1000000
blexp(—ﬂ2t)sinﬂxDDDDDDDDDDDDDDDDDDDDDDDDDDD tdogggo
gooo
(35) w(z,t) = be ™ tsinra.

OO000O00bO00O0O0bO0dO00oO00obOOooo0ooDOoooDoDOoobOoooooooooog 7-
200000000000

5 oo

(1) 00O

gooogboobooboooobooobobooboobboob oL obooobOooboo
goboooobobtoooobbooobbbooooboboo

10



heat equation, Dirichlet B.C. heat equation, Dirichlet B.C. heat equation, Dirichlet B.C.

theta=0, N=50, lambda=0.51 theta=0, N=50, lambda=0.51 theta=0, N=50, lambda=0.51
t = 0.009996 t=0.019992 t =0.029988
O 7- 21: t = 0.009996 O 7-22: t =0.019992 O 7- 23: t = 0.029988

heat equation, Dirichlet B.C.
theta=0, N=50, lambda=0.51
t=0.039984

0O 7- 24: t = 0.039984

0000000000000 A=7/h20 1/20000 A=1/40000000000000
A=0510000 f=f000000000000 (9-(11)0D00000O0 72102400
ooboboooo0obo0oboOooOobDOobOoboboooooboOooO 407000000 ODOD
gooboooobobobboooobobobboooobobboooobDbDbboooUbDbboooo
000000000000000000000000O000 (NODOODOODDOO)ODoOoooo
goboooobbuooobobooooboo

000 3000000000000 000000DOD00DO0O00ODOOD0OO0Og A0 0K
A£1/20000000000000000000000000DOO00O0

(36) V)| < maxe [£(2)] (00 SNij=0.1.--)
xe|0,

00000 (00 (5)00)0
00000000 0<AS1/20000000000000000000T0ODOODO
(37) lim max |u(z;,t;) —U; ;| =0

N—oo 0ZiSN
0Sj=T/7

00000000000000000000000000000 (0000000000 (5) O
00o)o

11



(2) 000000

0000000 30000000000000000000O00 0<AL /2000000
000000000000000000000000000000O0 (=0000000000
0)0O0o0OO00OOU0OO00O00O0O00O00O0000O0O0O0O0O0DO0ODO

ou
0 3000000000000 00 —Oooooooogooooogggoooogggo

ot
gpogoogod
Uij—Uj-1 Uy —2U;; +Uiq
(38) - = h2

goo0oooonbn yo0o0ooooooogo

(39) Uijr1 — Uiy Uiy —2Uij10 + Ui i
T N h?

0000000000000000 j0000000 j+1000000000000
(40) (T+20)Uiju1 = A(Uicrjs1 + Uip ) = Uiy (1=i= N 1)

0000000000000000 300000 (23) 000000000 j+100000
00000000000 (23) 00000000000000000000000000000
00000 Uy (i=1,2,---,N—1)000000000 (40) 0000000000 4 (1<
i<N-1)0000000000000000000 100000000000000000
00000000 (23)00 (0)000 (40)0 0 (0)000000

0000000000000000000000000000000000 A =051 00
00000000 7-250 2800000000000000000000000000000
(40)000 A (>0)0000000000000000000000000000 7-2907?0
000000 A=500000000000000000000000000

(3)0,0000-0000D0OO

goboboogooobooboooooobobbooooboboooobobobooooobobDboo
00000 (39 000000 (18) 0 (39) 00U 1—-6:0000000O0OOOOO

Uij+1 — Ui, Uis1,; —2Ui; + Uiy U141 = 2Uij1 + U1 i

1, ?, — 1_0 1 3] 1,7 (2 3] 0 (2 3] (2%} (2 3]

. (1-9) 2 - 2
000000000 00000000 0£S10000000000O00OO0OOOOOO
¢=000000 (18yDD¢=100000 (39)0000000O0OO0OOODOOOOOOO
ooobooboobooobob gy+100000000ODOODO0ODbDOODbDODOODbO

(41)

(42) (1 +20\)Uijs1 — ON(Ui—r 541 + Uiprj41) =

0000000 ({U,;;0<:<N}000000D000O0OO0OOO)N+100000 {U;;41;0<
i<N}OOOO N-1000000000000000

(43) Uoj+1 =Unj+1 =0

12



heat equation, Dirichlet B.C.

heat equation, Dirichlet B.C. heat equation, Dirichlet B.C.
theta=1, N=50, lambda=0.51 theta=1, N=50, lambda=0.51 theta=1, N=50, lambda=0.51
t = 0.009996 t=0.019992

t=0.029988

VNN

O 7- 25: t = 0.009996 O 7- 26: t =0.019992 O 7-27: t = 0.029988
heat equation, Dirichlet B.C.

theta=1, N=50, lambda=0.51
t=0.039984

O 7- 28: t = 0.039984

heat equation, Dirichlet B.C.

heat equation, Dirichlet B.C. heat equation, Dirichlet B.C.
theta=1, N=50, lambda=5 theta=1, N=50, lambda=5 theta=1, N=50, lambda=5
t=0.01 t=0.02

t=0.03

0 7-29:t=0.01 0O 7-30: t=0.02 0 7-31: t=0.03

13



000000200000 Up,q, Uy 0000000000000000O0 N-1000
00 {U;;41;1<i<N-1}0000 N-10000 100000000

1+200  —6\ 0 Urj

—O\ 1+20\ —6A Usjs1

(44) —ON 1+20) —0) Uij+1
0N 120N —0O) Un—sjs1
0 —ON 1420\ Un_1j41

{1-20-0)A}U1; + (1—=0)AUo;+ Usy)
{1-21-0)A}U; + (1—-60)ANUi,;+Us,)

- {1-20 -0\ U;; + (1 =AUy + Uigry)

{1-21-0)A}Un_2; + (1—=60)ANUn—3,;+ Un_1,)
{1-2(1-0)A\}YUn_1;, + (1—0)AUn—2;+Un,)

0000000000000000000000O00O0O0O0O00O0O00O0000

00000000000 00000006 =1/20000 Crank-Nicolson (0000 -
00000)000000000000000

6 0J00ODOOOOobOoOon

gogoooobobobboodoooououoobobbbooooooooobbbbbboooo
oooboobobooobooboboooboobooboob eCOODbOODbUODOODO
goodoooboobobbbooooououoobobb bbb oouoobobbobbDboboooo
goobooooboobbuoooobobboooobbooooobLbbboooobLbbooOon
goooooooooobobbon

du 0%u
E @—I—ku(l—u) (t>0,0<x<1)
(45) w(t,0) = —1, u(t,1)=0 (t>0)

u(0,z) = f(z) (0<z<1)

goobbooooboobooboooobobbooooobboooobboboooobLbboooon
goboooobobuooobobbuooobbboooooo

Uijr1— Ui U1 —2U;j + Uiy
46 7]"’_ 5J — 1 o 0 5] 5J 5]
(46) THZTW — (1) -
Uit1,+1 — 2U; Ui—1,
4 g JiHlael g+1 T Uic1 41 kUL (1—U,,)

h2
goodooobbobooooogouooobobbboooooooobbbbbbobooooo
goboooobboooobboooooo

14



7T OO0

(1) o000 (Landau) 00O O(+), o(-) DOODO

0000000000 O(h) (h—0)00 o(n*) (n—00) 000000000000 DDOO
0000000000000000000000000000000000

000 O() 000000000 CO00U0O0 00000000 z0000

(47) |f(z)] = Clg(x)]
000000000000000
(48) f(x) =0(y(z)) (z—a)

0000 0000 fO0 ¢g0OO00D0OODODOOOOO

000 o) OO

. f(=)
(49) iﬂ%mzo
gooooooooon
(50) f(x)=olg(z)) (z—a)
0ooo

0 f0e¢000000000000000 ADODOOO
fla+h) - f(a)
h

(51) A = lim

h—0
godoopoooooooboooan
(52) fla+h)— f(a) — Ah=0(h) (h—0)
Jo00do0ooooooguouooooogono fD CkOoooOoO0ooooOooooooon

["(a) fE (@) oy | f®(a+6h)
o Mt Ty

(53) fla+h) = f(a)+ f'(a)h+
0009 (0<6<1)00000000000000000000000

"), %)

(54) fla+h) = fla) + f(a)h + == =

WL+ O(hF) (b — 0)
O0oooOogoon

OO0 0000000 «00Db0O000D00 tco0bOOOODOODODO

?+r+l
=

O(z) (xr — 00).

15



(2) 000000000

040 (1) 000000000 OODOOOOOOO0ODOOOOOODOODOOOOOO —O
goobo0 —goobobbooooboboooobbooooboo

00000 z,y0O00O y=ax+b(e,b000)0000 10000000O0DOO0DOOOODO
goboodoobbooooboboboooobbooobobbooobbboooob ebbbood
gododooooooooooo

0000 y=bx"(a,b000,4>0)00000000000000000O0DOODOODOODO
0000000000000 00O0000D0D0y=0x*00000000000

(55) logy = log bz® = alogx + log b.
000 Y =logy, B=logh, X =logx 00000
Y =aX + B.

000 X, YOUOO 1000000000000 00ob0dboboobD »,y 000 X, Y OO
goododoouog e00nooobobbbn
ooooodooodoobOOoboboo000ob0o0 NUOODOODOO FODODODOE
C/N? (C 000)00000000000000000000 logN, 000 logk 0000
OO00b00o0ob0ob00o0obo0 =200000000D00D0OO0

(3 D00DO0UDOUOUDoOODDOOOO

gdoodoooououoooob «doooo

(56) lim u(x,t) =0,

t—o00

gdodooouououooob «0doogg

(57) lim u(z,t) = —= [ f(z)dx
t—oo 2 0
000000000000 000000000D000D000D0O0OO0n (6) DOODDOOOO
0 (00D00000)000D0
e.¢]
2.2
(58) u(:z:,t):ane’"”tsinnwx

n=1
DDDDDJMW”M%:0DDDDDDDDDDDDDDDDDDD

o0 oo
. _ 2.2 . . _m2.2 .
(59) lim be " ™ tsinnrr = E lim b,e”™ ™ tsinnrx
t—oo
n=1

t—o0
n=1

gdooooooooon ZDDDDDDDDD tlim ddooooooooooooboooao
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(62) /Of(x)smmrx T
gd
(63) b, = 2/1|f(x)sinn7rzv|dx
0
< 2 max |f(x |/d:c-2max]f( )|

0<z<1 <z<1

00000 6|0 20000000 M=2max|f(z) 0000000000000000

0 <1

HEN

(64) w(z,t)=e ™" Z bpe” D sin
goooo

(65) lu(z,t)] = ~P D7t gin prx| e

n=1
< (Sup |bn| Z 6—(n2—1)7r2t> e—7r2t
< (M Z e 1)7r2t> —7r2t‘

000 t>t, 0000

(66) u(z, )] < (MZ@ %) e
n=1

goo

(67) Ze (=Dt o o0

17



gboooooobooooobooboo

(68) e~ (?=1)mto < e—(n=DmPto _ =1 —mPto
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dodoooooooooodd (??)D 1= 0O000000:
(81) (1420 Uiy jy1—0AUsy—1,j41+Uig1,541) = (1-2(1=0)\) Uiy j+(1—=0) AN (Usy—1,j+Uig11,5)-
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< Ej o +2C(t* +7h?)

< Ey+jO(r* + 7h?) = jO(T* + Th?).
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00 (Joodan 0000000 O0)00000000O0DO0DO0OO0OO0ODOODOOOOOOOOO
gboobooooboodn

gogodooooooooooobobbobobn

2$1 + 3332 — r3 = 5
(107) 41’1 + 4132 - 31’3 =3
—2r1 + 3xy — z3 =1.

gobooooboboooobbooobbbooooboboooooon
1. 0000 00obOobooobooo
2.00000000DO0
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goooob —gooobbobbobobbododoo —oouoooobobbbbbobbooooooo
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